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1. The point (8. 12). (7, 13), (5. 15) are

(@) vertions of the equilateral trianglo (b) collincar
(€) concyolic (d). Nono of these

In the adjoining fig. a circle s inscribed in a square of side 14 em. What is the area of the shaded
region?

(@) 42cm. (b) 36 cm. () 44 cm. (@) 28em.
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If @. B, Y be the roots of the equations X(1430)436(6+)42=0 then the value of

oy s squil o
fa) -3 ) vz ) =12 (d) None of these

»
5. Iinaseries ty=— then tn is oqual to

n+

il o2 @ (=

O 21 2ot 21

6. What is tho sum of upto 10% terms of the AP. 5, 15. 25. oo
@ 500 ) 400 (@ 1000 (@) 1500

77 como of radius 12 cm. Is divided Into two parts by drawing a planc through the mid point of it
‘axis parallel to the base. Compar the volumes of tho two parts.

@ 7:1 ®1:7 (© 3:5 @ 5:3

5 Ram wont (0 a bank to withdraw Rs. 2000. Ho asked the cashier (o give him Rs 30 and Re 100
o Ram gol 25 notos in all. Find how many noles of Rs. 50 and Rs. 100 ho received
rospectivaly.

(a) 10,20 ® 15,20 (© 20,5 (@ 1015

9. What is the aren of the shaded region (10 the nearest cm) in the given figures whare O s the centey
of the circle.

<z

() 16 cm (b) 14 cm () 15cm @) 18 em

10. The median can graphically be found from.
(o) Ogive (b) histogram (©) froquency curvo (d) Nono of theso
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Tho mean of varaies 5, 7, 8, 11,13, 17 with froquencles 4, 6.9, 10. 12,1} respectively is

a8 (b) 113 {e) 12 (d) 13
12, 100 cards marked with numbers 2 to 101 are placed in a bag and mixed thoroughly. Ram draws a
Sands from the bag. Find the probability that the number on ho card is a number which is a square
of.
2 9 1
(a) = b — (c) (d) None of these
@) % L 00 (O] (d) None
13, Two cards are drawn at random from a pack of 52 cards. Tho probability of getting at least a spade
and an ace is.
2 s 1
e b ® @ L
(a) 51 (122] “Zﬁ ll34
14. The number of 5 digit even numbers that can be made. with the digits 0, 1, 2, 3 is.
{a) 192 5 (b) 384 (c) 768 (d) None of these
15. Find the number in the unit place in 962 X 966 X 434 x 959
(@) 2 (b) 4 (c) 6 ) 8
16, A man spends 60% of his income. His income increased by 1% ‘and his expenditure also increases
by 5%. Find tho percentage of increaso fn bis saving.
(a) 30% b) 15% (c) 20% (d) 25%
17, A sells an articl to B at a profit of 5% and B sells it to G at a loss of 5%. 1 C pays Rs. 23.94 for ity
‘what did it cost to A.
(a) Rs. 24 (b) Rs. 25 (c) Rs.26 (d) Rs. 30
16, 10 men can complele a piece of work in 15 days and 15 women can complete the same work 1012
days. If all the 10 men & 15 women work together, in how many days will the work get completed?
o ® 72 © 62 @ 6!
3 3 3
19. ABXW. EFTS.
(a) HoP {c) nop (d) JIPO *

17.(@) 18.(c)  19.1)

2. (a) 3. (a) 4 (e 5. (d) 6. (a) 7. (b) 8. (d)
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